“l<x<19 M, Va2 -2x+ 1+ Va2 +2x + 19| k& 5t 2}

S ER
=¥



2. 1<a<4?d 9 a9 +la-11°] L& Fotolat

e =
-



3.

V- B

N,
N
2

@
@







5. fe4a bl distel(1+2v2)a+ (-1+ V2)b =5+ 727 A
o, g+ b2 F2?

D 3 ® 2 ® 0 @ -2 ® -3



y= Vix—124+ 59 T3y =2x 0] I LE xFHO0 2 o,
yEo2 gk WOl Holck, a + 42 3 Fatolet

Qe



© ® © 0 ©

By = VOF3x-2



1

X) = Vx—-2+2, g(x):erT?a] i, (fog)(3) + (g0 £)(3) <



O_u

T V2x 454 VI5 - 3x 7 AeE AER ote Ao 19 T

=9

@D 670 @ 770 ® 871 @ 971 ® 1070



i

@ 178

_ 1/’5_27}/\431;
x—4

® 274

2] ok x 7F

® 374

Fol4 H40] Age?

@ 470 ® 57



26

R

& AAEHE?
O V2+ V3-+5

® V2+V3+V6-5

® (V3 + V5~ VD)

@ 4-V2-V3
@%(\/5+\/_—\/§)



thS % §H y = aVbx O] 2 I} 1AL AHRES 27 Uhe
A N2W? (F ab#0)

@D ab > 0 ©°]H Al 3AFEH
@ ab < 0 °]H Al 4AHEH
® a<0,b>0 0] A 4AH2H
@ a>0,b<0°]H A 1AHEH

® a<0,b<0o°]H A 2AHEH



13. o8& = gk49) i H 1
= S0l Ot Al 1 AFREHES AUA] = AL BE 112
BT A= LT 1LE

H?
@O y=V2x-1
® y=-vV2-x

®y=+V1-x+1

@ y=+x+1
@ y=-Vvx-2-1



@ a>0,b<0°]
© b>0°]"H A4

® a<0,b>009]

rgd
o,
1o,
18
rlo
=
=

A

2
o
T

rE,
>,
S
g
fijo
A,
L
i)

@ y=—aV-bx & 1L} x Fof tisto] iAol

ON®)

@ ©

®HeH 0 ®ao6e 6 O 0




15.

=]
s

a

2]
E

Sk

=

s
i=hu

y:

ZF

XeB
E=

Vax + b+c 2] 2 Z7} o5
, a+b+c 2] & Fotoi )




16.

oA &gy = VBx+a+2 9 HYigko] b, FxFke] 2

e Fopoler,






o g2

Y
X

o, \/§+

SH
=

=
=

xy7bx+y=-1,xy=2&%

2~
e

Al
=

=
n

18.



o, ¢ + b® = 9ab

SH
=

® 4 3 2 @ 1 A 11

@D 6



2-1Y o, x=30H y°] 3e?

[_

12 —10]1l 3y

2x =1t+

20.

— |

— ™



x=V3+Vo— V3- V5 o], x3—2x% - 2x +59] gr-2?

@D 0 1 3 3 @ 5 & V15



22,

Sh

jm=

—’Fyz

ax—|—8 o Jejmo] AA



23. Vx+2=x+k7t A= OE F 9 & 71 o Ak 9] 3he
HAE 7 (T k= A

@2<k<% @ 2<k<

@ k<2 ® 2<k<



24. f(x)= Vx-1+17 1 9%
o] wAg Atole] A E 727t A 3t A7

e
i
| oQ
S
)
ok
B=)
oQ
S
1o
\
S
og
=

O glx)=x*-2x+2, V3 @ gx)=x>-2x+2, V2
® glx)=x*-2x+1, V2 @ g(x)=x*-2x+1, V3
® g(x)=x2-2x+1, V5



25. Ay -2y+4x-3=0°1xF NI (a, 0) 22 Y 12 F

o] HILFES 0 9] Zhe A7

o JH

@D -1 @ 0 3 1 @ 2 3B 3



